14.

15.

Find the slope and the y-intercept of —3x+6v=4.

a) m:E; 0,—i
5 5)
5 ( !
c) m=—: 0,—2
6 | 3)

Which equation does
this graph illustrate?

a) x+2y=-2
b) —x+2y=2
c) 2x+v=-2

d) x—2yv=2




28.

29.

30.

Determine the degree of the polynomial:
55 4+3xy—4x7y°.

a) 3 b)4 c) 8 d) 2
Subtract: (4];4 —5y +2y +5)_(3},ﬁ —3y7 42y —3].

a) v -8y +4y+2 b) 4v* —2y° +4y+8
c) 4yt =3y’ —2y" 48 d) y* -2y 48

Multiply: (x—4)(x*+3x-2).

a) ¥ —x —10x—8 b) x’ —x" —14x+8
¢) ¥ —x —10x+8 d) ¥ —=7x" —14x+8



31.

32.

2

Multiply: (a—3b*)

a) a- —3ab* +9b° b) a* —6ab* +9b'
c) a- —6ab* +9b° d) a*+9b°

Factor completely: 16x°y"—81. One of the factors is:

a) bxy-9 b) 2xy+9 c) bxv+3 d) 4xy-09

Factor completely: x”—10x+24. One of the factors is:

a) x—12 b) x+4 c) x—8& d) x—6



360.

37.

X*+2x-8 (x+4)

Divide and simplify:

] b]I+4
x+4 X

a)

Add: X4 5
x—6 o6-—Xx

3(2
( I+]) b) I
x—06 x—6

a)

xr —8

X 42x+4
x+4)° -
c}(r:r) d)IjZ
X +4 X-
3 X —
) 1 (2x-1)
2—x x—=6



Question 2: ( 4 points)

a) Perform and Simplify:
¥ +7x+10  2x-10

¥ }:: 2
¥ =25 ¥y 4+x—-2

Solution:

©+7x+10 2x-10 (y/}[er} 2(x<5)

Y25 Far-2 ()-8 (x+2)(x-1)




b) Factor 3x° +x” +6x+2

Solution;

W+ +6x+2=x"(3x+1)+20x+1)

= (3x+1)(x* +2)



Question 3: (2 points)

Solve the inequality 3+2(x+5)—4x=7x—5

Solution:

3+2(x+5)—4dx=Tx-35
3+2x+10-4x=7x-5
2x—4x—-T7x=2-5-3-10
—Ox=-18

xy=2



Question 4: (2 points)

Solve the equation x* +6x+8=0

Solution:

¥ +6x+8=0
(x+4)(x+2)=0

Either (x+4)=0
x=-4

Solution set = {—2.—4}



Question 5: (2 points)

Graph the equation 2x+3y =06 using the intercep

Solution:
x —1intercept: (3,0)

y—1intercept: (0,2)






